


Integrated Circuits in a computer are made up of billions of transistors that are activated

by the electronic signals (low/high) they receive. The ON/high and OFF/low state of a

transistor is represented using the two digits 1 and 0, respectively. These two digits 1 and

0 form the binary number system. This system is also called base - 2 system as it has two

digits only.



We, humans, use decimal number system in our day-to-day life. It is known as base - 10

system since 10 digits (0 to 9) are used.














